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Nhan véi lity thira ctia mudi (s6 bi thiéu)

Tén:

1.412 x

= 1412

1.984 x

=19.84

4.466 x

=446.6

3.248 x

=324.8

5.942 x

= 5942

10.968 x

8.06 x

= 1096.8

2.097 x

= 8060

=209.7

5.13 x

1.119 x

=513

= 1119

4.567

8.51 x

10.731 x

6.481 x

Ngay thang:

=456.7

= 851

=1073.1

10.527 x

1.726 x

= 64.81

=1052.7

6.202 x

5.67 x

10.294 x

8.589 x

=17.26

=620.2

=56.7

= 10294
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= 85.89

Piém:
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@ * m §ﬁ> Nhan véi lily thira ctia mudi (s6 bi thiéu)

Tén:__ Ngaythang: _ Piém:____
1.412 x 1000 = 1412 4.567 x 100 = 456.7
1.984 x 10 = 19.84 8.51 x 100 = 851
4.466 x 100 = 446.6 10.731 x 100 = 1073.1
3.248 x 100 = 324.8 6.481 x 10 = 64.81
5.942 x 1000 = 5942 10.527 x 100 = 1052.7
10.968 x 100 = 1096.8 1.726 x 10 = 17.26
8.06 x 1000 = 8060 6.202 x 100 = 620.2
2.097 x 100 = 209.7 5.67 x 10 = 56.7
513 x10=51.3 10.294 x 1000 = 10294
1.119 x 1000 = 1119 8.589 x 10 = 85.89
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